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best second third
99 BB #h KBRAT $13 LoYF 99.4
102 M RB KBRAT $13 L\BL3 99.2
95 180 BEW® ~RE] 180SX Ve 99 98.8
101 B &H-& =R $13 ROk 99 98.5
106 S Y= REBAT s13 Iy 99 98.2
107 kT EBF BIES S14 Bk 98.9
91 thiy  KE HER s13 il 98.8 98.5 98.5
94 O B RENT S15 = 98.8 98.5 98
92 RE  BE HER s13 B 98.7 98.6
103 BB SiE B8R FD3S = 98.7 98.5
96 Tt =B REBAT 180SX TR 98.5 98.5 98.3
104 a7 Thl B8R C350-bl m 98.5 98.5 96
98 2% X— HER sS4 I - 98.5 98.2
105 7ol fi— KBRAF $15 = 98.5 98
100 AR & GIENIIES 15 £ 98.5 97
97 BR =g KPBRAT 180SX & 98.2
93 EH FE SER S15 E>D 97.5




